20243 2¢ JA4g =550
2 (52) 5H(p) A (72) =(g)
UL I Xt == S = ZH A &8 o=
Q AZ2¢c}t Sep
SH(13)

2S5 oS Z MK
8 os =R ]
Bad FA eSS SISEET
sH(202!)
g| ot =
DILI 8124 = 0| =] ] QB
BT A Z20A Hene AtEdl




=9 2HAL L E Ol &t =& | &5 | dla32D1 ASH
HI 1,300 | 117 M 152,100
2/5(4) OIEEI2
QL A=2¢2t 6,000 | 12 2 72,000
2/6(3}) o X-X =, 200 43,000 | 6 ot 258,000 2! AEHTI K
QYL X 8,400 | 12 = 100,800
2/7(#) ............................................................................................ E”’EE!’%
Lot S6T 6,200 9 =2 55,800
2/13(3}) g e 1,800 | 79 M 142,200 gaste )
2s & 1,500 | 79 ol 118,500 =]
P28 1Y (53 Sttt 0 (60O NSNS SHSSSSSSUSSOE SOSNUSSOOIOS S —
D F=A 450 | 79 M 35,550 OIEEI2
20t 1,000 | 80 M 80,000 | QHEZOI EALE
2/15(%) ..................... _ ......................................................................................
ANS=328 1,200 | 79 M 94,800 OlEEI2
2AMNX 1,500 | 79 M 118,500 =]
2/16(3) ................................................. e L e S b
w22 Ee 1,200 | 79 b 94,800 OlEEI2
olLl WA 7,000 | 26 =2 182,000 | s meldtAHE
2/1Q(R) foreeeemmmmsssssssssssssssssssssssssssss sk D e
HITIGA(8Y) 2,980 | 10 =2 29,800 OtEES
B T =20 1,500 | 80 ol 120,000 =]
2/20(3}) | ; 5 OSSOSO SSSSSSOO O S
20|A 1,200 | 16 m 19,200 OIEEI2
=] 20,000 | 6 A TH 120,000 2=
2/21(%)
Wem 2,450 | 26 2 63,700 OIEEIR
2/22(2) R 0p2 et 6,500 | 22 i 143,000 | sHatp{enorlg
QLEY(8Y) 5,500 | 10 i 55,000
2/23(2) OIEEIS
AEA 4,000 | 11 o 44,000
oflal M 2,099,750




